Pevnostni tfidy betonu

Analytické vztahy/

vysvétlivky
fq
X 12 | w6l 20 25| 30 | 35 | 40 | 45 | s0:1 8 | ea | 70 | 80 | @0
(MPa)
fck,cube
15 | 20 | 25 | 30 | 37 | 45 | 50 | 55 | 60 | 67 | 75 | 85 | 95 | 105
(MPa)
fcm fcrn = fck + 8
20 | 24 | 28 | 33 | 38 | 43 | 48 | 53 | 58 | 63 | 68 | 78 | 88 | 98
(MPa) (MPa)
f fam = 0,30 x o2 < C50/60
= 16 |19 )22 |26 |29 3235|3841 ]| 42)|44]46]|4s]| 5 i e
(MPa) fem = 2,12:In(1+(f o/ 10)) > C50/60
f faaos = 07 % F
w0 g1 |13 15|18 2 | 2225|2729 3 |31|32]34]35 e yam
(MPa) 5% kvantil
' Fnoss = 1.8 %F
w0 | 2 25|29 | 33|38 |42)|46|49|53]|55]|57| 6 |63]s66 e ke
(MPa) 95% kvantil
E E = 22(F o/ 10)%2
o 27 | 29 | 30 | 31 | 33 | 3¢ | 35 | 36 | 37 | 38 | 39 | 41 | 42 | 44 om = 22(fem/10)
(GPa) (fem v MPa)
viz obrazek 3.2
£c1(%0) | 1,80 | 1,90 | 200|210 |220]225]230]240] 245|250 260|270/ 280]280 . i
8(:1(/00)=017 fcm' <28
viz obrazek 3.2 pro fy =50 MPa
£ cut (%) 3,50 320 | 3,001 2802801280 . "
Ecut( foo) = 2,8 + 27[(98 - f)/100]
viz obrazek 3.3 pro fy 250 MPa
€ c2 (%) 2,00 220|230 240|250 260 . e
8.:2( /00) - 2,0 + 0,085(fck = 50) '
viz obrazek 3.3 pro fy = 50 MPa
Ecuz (%) 3,50 3,10 | 2,90 | 2,70 | 2,60 | 2,60 i .
&cu2( foo) = 2,6 + 35[(90 — £, )/100]
pro fy 250 MPa
n 2.00 1,75 |1 1,60 | 1,45 | 1,40 | 1,40 .
n =1,4 + 23,4[(90 — f4)/100]
viz obrazek 3.4 pro fy 2 50 MPa
£c3 (%o) 1,75 1,80 | 1,90 | 2,00 | 2,20 | 2,30 .
£6a(*loo) = 1,75 + 0,55[(f 4 — 50)/40]
viz obrazek 3.4 pro fy =50 MPa
£ cus (%0) 3,50 310|290 | 270|260 260

& cua(loo) = 2,6 + 35[(90 — 4 )/100]"*
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